3D4(2).3

(mod 7)
blocks | defect matrix
G: 1 2 27 x 21
2 0 1961 = Xx4,0, 4,0
3 0 1962 = x4,1, 4,1
4=3 0 1963 = X4,2, V4,2
5 1 7%x6
6 0 6371 = X11,0, ¥8,0
[ 0 6372 = X11,1, P81
8=17 0 6373 = X11,2,¥8,2
9 0 12741 = x13,0,P11,0
107 0 12742 = X13,1, P11,1
11=10 0 12745 = x13,2, 11,2
12 0 57331 = X154+, P12+
13 0 114661 = X238+, P16+
14 0 119071 = X314, P19+
15 0 50961 = X35,0, ¥22,0
6 | 0 50962 = x35,1, P22,1
17=1 0 50963 = x35,2, P22,2




Block 1:

©Y1,0 P1,1 P1,2 P20 P2,1 P22 P30 P31 P32 ¥6,0 ¥6,1 ¥6,2 P70

11 =x1,0
1o =x11
13 = x1.2

52,
52,
525
324,
324,
324,
1053,

= X2,0
= X2,1
= X2,2
= X3,0
= X3,1
= X3,2
= X6,0
= X6,1
= X6,2
= X7+

4681 = Xx10,0

4682 = Xx10,1

4683 = Xx10,2
10532 = X12,0
10533 = x12,1
10534 = x12,2
16641 = x14,0
16642 = X141
16643 = X1472
63181 = X184
84241 = X254
40961 = x34,0
40962 = x34,1
40963 = x34,2

1




(Block 1:) P72 P90 P91 P92 10,0 $10,1 10,2
11 =x1,0
Ia =x11
13 =x1,2 ©1,0
261 = x2,0 P11
262 = x2,1 1,2
2063 = x2,2 ©2,0
921 = X3,0 V2.1
522 = X3, $2,2
523 = X3,2 ©3.0
3241 = X6,0 ©3,1
3242 = X6,1 3,2
3243 = X6,2 ©6,0
10531 = X7+ ©6,1
4681 = X10,0 . V6,2
4682 = x10,1 1 . ©7,0
4683 = X102 1 : 7.1
10532 = X12,0 1 . 7.2
10533 = X12,1 1 . ©9,0
10534 = X12,2 1 . ©9.1
16641 = X14,0 1 . ©9,2
16642 = X14,1 1 . ¥10,0
16643 = X14,2 . . . 1 $10,1
63181 = X184+ 1 1 . . . 1 1 1 (1010’2
8424; = xo5+ 1 1 1 1 1 1 1 1
40961 = X34,0 . 1 . . 1 1
40962 = X34,1 1 . 1 . 1 . 1
40965 = X34,2 1 1 1 1
Block 5: | w50 w51 @52 $150 $151 $15:2
2731 = X5,0 1 . ¥50 =
2732 = X51 1 : P51 =
2733 = X5, 1 : ¥s52 =
21841 = x21,0 1 . Y150 =
21845 = x21,1 1 ) #1510 =
21843 = X2172 . . . . . 1 9015’2 =
73711 = X224+ 1 1 1 1 1 1

2731
2734
2733
2184,
2184,
21845



